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Degree (Part-1I) Vocational Examination, 2021

| (Honours)

BBM |
| Paper : Third |
| PPU-D-II-(V)-(H)-BBM-3‘]

| Time : Three Hours] [Maximum Marks : 100
; 2 L S
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— = ——

Note : Candidates are required to give their answers in their
own words as far as practicable. Attempt all questions.

- Each question carries 10 marks.

QR qUTEwWg 3199 /&l | & SO <1 99l 9991 &
IO} ST U 999 10 37t & Bl

Group-A/ §He-H

/What is Financial Planning ? Discuss its basic elements.

Rt Q19T /T 8§ ? 36D R adr @ gl S
OR / 1gd

4007-03/740 (1) [P.T.O.]
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 ~maetn s R EARORE]

What are Financial Markets ? What are its different

types 7
v aroe @ & 7 g R S @

What are the goals of financial management 7 What are

/ its scope 7

Sy e B R @ § 7 5D WM AW E 7
OR /| gl

Explain about different sources of industrial and business

finance.

S o ais R 3 R &t @ aR |
AR

3. What are debentures ? How they are different from

shares ?

FoE A E P A A A B B 7

OR / HYq[

b s What is "Time value of money" ? How it is importantin

R Ty, ol 1) .
TR . NN :
b v B e e ' .
i - " gl '. k. a3, 4
L it RS B g =L |
. B el _
f AN\ ' 5
UV /=L w2
. ! oft
! :
e 3
2 - e
- i o [l L " o
|- llJrl'I j-' £ . I
TG ‘1'!__“-‘: e 77
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g 7

What are the differences between term loans, trade

credit and bank credit ?
AR T, R RO R e FO F T AT 7
OR /| &l

Maurya cements presents the following information and

you are required to calculate funds flow statement :

2020. | 2021 2020 2021
4 3 4 4
Share Capital 3,00,000/ 4,00,000{Cash 30,0001 90,000
Reserve 1.00.000| 50,000|Accounts Receivable | 1,05,000( 1,50,000
Retained Earnings | 30,000( 60,000|Inventories 1,50,000( 1,895,000
Accounts Payable | 45,000| 1,35,000|Fixed Assets 11,90,000] 2,10,000
4,75,000| 6,45,000] 4,75,000/| 6,45,000
Additional Information : bg ]\
\.__
(@)  The company issued bonus shares for ¥ 50,000
and for cash X 50,000
(b) Depreciation written off during the year ¥ 15,000

4007-03/740 €3 3 [P.T.0.]
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1

2020 | 2021 2020 [ 2021
4 i 4 4

ST Goil 3,00,000| 4,00,000| 9% 30,000 90.000
STRIATT 11,00,000| 50,000|uT9r T 1,05,000| 1,50 000
qieeTiRa g | 30,000| 60,000| AT 1,50,000/ 1,95,000
g @ 45,000| 1,35,000| 3T HUfIAT| 1,90,000] 2,10,000
~ [4,75,000] 6,45,000 4,75,000| 6,45,000

P BT | (= ——————————

(@) FE 7 T 50,000 THE B T B 7 50000
ST 3T S fohgy

(b) 15,000 T & AR TETT HeT T

)./ What is 'Ratio Analysis' ? Write any five formulae of it
mentioning its use.

YU fager T ? g Rl O G B 3
ST S g ffaw

OR / Hq(

~ 4007-03/740 (4)
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Explain in detail the 'Cost theory' and the 'Earning Theory

of capitalization.

T 3 ‘arr R ok ‘e R ® e
d 993y

Group-B / €&«
6. Write down the nature and importance of accounting.
A B T AR e i
OR / HLC]]

What is 'Double Entry System' ? How it is better from
the 'Single Entry System' ?

eh gfafte qomett 71 R ? 98 T dfafe soTel /@ &9
st B 7

/ What are the different methods of'charging

depreciation ?

T B & fAf qleh 0§
OR / HY](
4007-03/740 (5) [PTO] i@
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What is 'Goodwill' ? Is it important in admission of
new

partner ? How ?

WW%?WT%WH@WEI%G?@%E;W

37?34 7

What are the differences between Capital and revenue

iIncome ?
QORI SR o T & o SfaX & 7
OR / 3HYq

Following is the trial balance of Guha constructions as
on 31st March 2020. Prepare a Profit & Loss Account

and the balance sheet from it :

4007-03/740

(6)

Particulars ~ [L.F.JAmount (Dr.) [Amount (Cr.)

- ' — —_— -4 #—L ? . — ? 4
Cash Account 20,30,000 -
Capital Account - 50,00,000
Bank Account 31,39,000 -
Purchase Account 24,00,000 -
Machinery Account 6,00,000 -
Computer Account 50,000 -
Sales Account - 32,00,000
D. Lal & Company (Creditors) - 12,50,000
M. Lal & Company (Debtors) 10,00,000 -
Furniture Account 1,50,000 -
Insurance Premium Account 20,000 -
Commission Received Account - 20,000
Drawing Account 40,000 -
Salary Account 25,000 -
Rent Account e, 1 s 10,0001 & S

5 | | 94,70,000] 94,70,000]
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T T-a Ew o I & R Hiftm
=R LFI'@?"T(DR) W(Cr.)‘ ‘l
I r3 o . :
SR Al 20,30,000
I e 50,00,000
e _ 31,39,000
REELL B R R 24,00,000
v 5 5T L e 6,00,000
Bk R 50,000
e A B e R : 32.00,000
SI. T R F (ATRR) : 12,50,000
TH. 9 R F98 ((FFR) 10,00,000 :
BlEX @ et | 150,000 -
ST I g | 20,000
ESISIRIGURCIR] _ 20,000
STETOT QT 40,000 -
CREICIR]] 25,000 '
1g.0080 ¢ -
94,70,000)  94,70,000

9. What is Receipts and Payments Account ? How it is
/ important ?

il IR g e A R 9 AR e &

4007-03/740 =7 ) [P.T.O.]
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OR / YAl

What are Journal, Ledger and Trial Balance ? Explain

each in detail.

ST, @A SR e FE 7 B U A Rean
¥ qaEy

10. What Accounting entries are made in the books of

weal partnership firm regarding retirement of a partner ?

e od & gERr @ MRl & 9= 9 T awie
T A & 7

OR / HYC]

What are the 'Generally Accepted Accounting Practices'

/(GAAF’) ?

‘AR W Wiga i e &1 8 7
..... x......___

14007-03/740 (8)
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4007-04 printed ras

Degree (Part-H) Vocational Examin

(Honours)

BBM
| Paper : Fourth |

( PPU-D-iI-(V)-(H)-BBIvi-4 | |

Time : Three Hours] M

Note : Candidates are required to give their answers In thelir

own words as far as practicable. Answer any Five

questions. All questions ar2 of equal value.

el e O S ¥ & ot &1 el qrd e
> ey & gt geA & 9 KR &l

V What are the different consumer behaviour models ?

RRFT SuHeRT @@er Hied #1 § 7

/ Classify the different types of products in detail.
I,

R TR & IRl @ &R | @iigd STl

4007-04/740 (.1 [P.T.O.]
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q what are the different types of channels ©f distribution

for consumers and for industry ? Explain €ach separately,

sodeaett d RT olk g & frg BT S9at B
e TR 1 8 ? BT U 3y ore -t qHEE

/ What is Marketing mix ? What are its elements ? Explain

/ each in detail.

o T R 2 ? 308 qg 1 § 7 &K 0% B G
g gHERu

/‘/’ What is Market Segmentation ? How it is helpful for

marketers ?

TR W =1 2 ? 38 uue @ U Y @S
27 Shi

6. How would you plan and manage a promotional

campaign ? Explain its process point-wiSe.

T T TER AR i Jo S SAa o Jafwerd
BN 7 56 gk feigaR ey

4007-04/740 (2)
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8. What are the different ways the companies use sales

oromotion 7

gt e AT gt & faedy ot @ SUERT H
g7

9. What is 'Surrogate Advertising' ? How it is beneficial in

Indian context 7

T fEEaT R’ 2 ? WG ded H J8 R G
HRERHS & !

10. What are the Marketing Organisation ? How it is important

for its Clients ?

4007-04/740 Vo
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Degree (Part-ll) Examination, 2021

N

'g cl ( Vocational - Subsidiary )

L © Subject : ECONOMICS

o < Code : PPU-D-lI-(V)-(SUB)-ECO

- O\ Question Booklet
(7p. Number
(To be filled in by the Candidate ,/ fo=1 gftfar wliamdl @ %) 100639

Roll No. (in figures)

IR (3 H) Booklet Series |
Roll No. (inwords) i % 3 C
% () § e
g (aret [Maximum Marks : 100
Name of Centre [SATERaTH 3% - 100
5 W A | [Time : 3 Hours
Centre Code e st S Ry N AT [@7a (3 He
% P DS |
Signature of Candidate Signature of Invigilator c
qierell & &ERi FeI-TEE B BT
Instructions to the Examinee : qhaRat $ g FRa
1. Do not open the booklet unless youare 1. qe-gRaH T TF 7 Wit A9 b I
asked to do so. FE T AT
2. There are 120 questions in the booklet. 2. O-gRh # 120 9 & TO0&HE i Faw 100
Examinee is required to answer only 100 O & I & B OMR -0 ¥ & &,
questions' in the OMR Answer Sheet -G O & T U q9E 33 5 2
only, not in the question booklet. Each R B 2 100 T A o U 3 e &

question carries equal marks. If more
than 100 questions are attempted by & R o & & s & A g 100

‘student then the answers of first 100 I B & Ao B s

questions will be included.
3. Examine the Booklet and the OMR 3. 5% % I ot 7 & | -Gt

Answer-Sheet very carefully before you OMR e-diie & TG 2@ dl A
proceed. Faulty question booklet due to -l et 3B W B § BB 2
missing or duplicate pages/questions or OF 0% ¥ 3% 97 B9 T & a1 369 R
having any other discrepancy should be o
immediately replaced. I R B F B, I Je @

(Remaining instructions on last page) | (9 R gRm 78 )

- - L
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1. How many methods are used for 1. T S e i ol AT B !

ent of National Income? : -

measurem A - AR R
(A) Four methods * 4
B)  Urg fafdEn

(B) Five methods

\j@?/ = € © R
Six methods
\/V/ Three methods / (D) SIRMEIER

2. Under 1948 Industrial policy, industries were 2. e i, 1948 & FEF B feha

divided into how many categories? A A fowed fopar @ an !
Mr DR
(B) Two B) A WFI H
(C)  Seven C) 4| wF A
(D) Three O) = @F A
3 Second Industrial Policy was passedinApril 3. fadra ol ifd, eBia 1956 % Tid
1956 where industries were divided into how £ T Pay I & Rae ar |
many parts? el 1 917
(A)  Four (A) 9 R AR A
/e)/mee @8 &= «Fl A
Q)  Five C) U= A H
O Two O) @ AFH
4.  Whatis National Income ? | 4 TS AF F= g7
(A)  Production fall commodities with A 2 H R ad F I T
total value of services ﬂ@‘ﬁ SRS E I& o
(B)  Government Income B) HT@&EX H JAY
(C) ustries Income € AT H I
) Allare true among these O 4 & g9 @
2406-02-C/205 et T [PT.0]

&

o ,{L
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Who wrote the book "Economics of
Weltare* 2

A)  Marshall

VIB)/ A.C. Pigou

(C) Dalton
(D) Hansen

A commercial bank operates how many
bank accounts?

(A) Fixed Deposit Account

/97/ Current Deposit Account

(C) Saving Bank Account
(D) All of the above

g A Commercial bank °
(A) Controls credit

(B) Accept deposit and advance loans

- (C)  Lender of the last resort

ABT Al of the above

8. Reserve Bank was established in year :
e
B) 1936
© 1938
D) 1939
9. Where is the Headquarter of R B.1.?
| (A)  Delhi '

(B)  Chennai

\}p) Bombay : . (s |
N/ 4 : E-::r".r | :I'::r' .
(D) Calutta o e
R, TR iy
"-ﬁ

iy --‘ hlr'

L =
o ': &
- ! ,‘_1.‘._. k
LS S
- {3

e

& ¥ MiT »
a . - L
o s 0
[ ! : o
ey e ki 3 R

(A) st

B w. i

€  SwreEd

O) A

wh s ¥ B 36 ThET B
Fardr & 7

(B) i STHT @rer

C) ud @
O S a
0% S o

(A g P e s @

(B) I BT HXAT T KT W&
HAT &

C) A TR B B HE D

0) SR '

Rord 9% wnfa gom e, af ©

(A)  1935%

B) 1936 %

C)  1938%H | )

0)  1939% s

Rod 9 1 e Prfed = Y ?
(A) Reeh L

B ¥
€ s

- Ll 3 &
) # ' ':F+ o b =
_ R PTG SR
. : - e~ VIR ) g
- : R
|
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10 When was the Mudaliar Commitlee

constituted ?

(A) 1960

(B) 1961
- 190
G ‘
0) 1966
", SEZ (Specific Economic Zone) was set-up

being influenced by which country?

(A) Korean experience
(B) Singapore experience
(Y~ Chinese experience

(D) Hong Kong experience
12 India's wage policy is based on :

(A) ost of living

(B)  Standard of living

(C) Prc;ductivity

(D) None of the above

13.  Which of the following group of states has
the largest concentration of rural poor people

and people living below poverty line?

(A) Karnataka, Maharashtra, Goa

(B) Goa, Maharashtra, Andhra Pradesh

(C) Tamil Nadu, Goa, Kerala

Mndhra Pradesh, Karnataka, Tamil

Nadu

2406-02-C/205 (

10, warfery afafy @ wew @ gem on ¢

(A) 1960
(B) 1961
(C) 1962
(D) 1966

. o onffes S (89) it W e
39 | gwifae BT TN

(A)  IET T
(B)  RFMYY ST
€ = STgNa

O) BRI SFgHd

2. WG # Aorgd A smRa ®

(D). I Qg ol

3. Ffoied Tt ® § 60 e § e
T AT T @ A A an
B T e § 7

(A)  FHiceh, FBIU, Il
B) T, TR, ST R

© o R, Fen, W

T | ' i {,P;T;O-f.] ,_
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g A I AMS T Gl
14 Food for work programme was renamed 14 ®S ®IT D g?f

as . LI E21 I

(A) Rural Landless Employment (A) T ﬂiﬁlﬁﬁ EUSIALLES G ST

Guarantee Programme

Lﬁ/ National Rural Employment

Programme | C) HAare{ oY ot
(C) Jawahar Rojgar Yojana
(D) IRDP
15. What is the main objective of Antyodaya  19. ST BRI g @H i r

(B) ey amfer QST AT

Programme ?

| A) e B S
(,LA'}/Upliﬂ the poor

~ (B)  Uplift the urban poor
(C) Uplift the farmers

(D)  Uplift the landless farmers O  9WER fear & SEr
16.  Swarnajayanti Gram Swarozgar Yojanacame 16,  &qUiorg=it A WASTIT qrTT IR §§ :
into being in : A aqﬁa, o
(A)  April, 1995 o R
(B) April, 1997
e April, 1999 C) B, 1999
0)  July, 2001 (D) 2001
17.  Operation Black Board aims at : ' {7 % 9IS H IG3YE 8 ¢
(A)  Promoting adult literaﬁy ) EI'GIF-B R T

(B) Proiriding education to urban slum

B) & i SR F @A and A

dwellers
& fART TEM BT

(C) Opening new schools specially for

female children ' € af=a @ Ren & A e
ﬁ Promoting primgw educétion In an il Nl
educationally backward area | (D) JETOrH &9 | Uss &9 ¥ RS
k. RN e
B ows0ocoos (6) '

A s e
T Ay ﬁ. 'y
L L A
: .-‘: IE'I:.l =
R ot S S

. H.L | T.;n;:h:_. : | - 3 :-'. :_. e | .. NI T
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18. National Dividend is that part of objective 18 T awier Bt 9ot &) a'{gﬁﬁ

income of the community, where Income A H 98 yp7 & Prad R O o
3 | it @ & qen P gm
W AT o7 Gehar 81 g8 R

from foreign countries, which can be
measured in money. Who has said it 7

(A) Marshall e &7
(B)  Pigou (A WIS
©)  Fisher ® U
€  ®I
0)  Hicks
_ | O) fed
19, How many functions are of Money? 19. & & Fay wd B
(A) Four A =R .
\¢iz)/|:we . B) ':ﬁa
Three ©) ey
D)  Six BB
20.  Money is that commodity : 20. TE 98 I ©
(A) Which is precious metal (A) S| SRR 2
(B)  For which we are always ready to B) R e a9 o9 [ & W
die _ wd ¢
ﬁ(; Which act as medium of exchange, € St R @& W, T
measure of money and generally H9% U9 S GHIG: Wb ol
acceptable V1P|
(D) Al of the above D) S Gl
21, Money has removed the difficulties of : 21, TE A HloEd W QX B
(A)  Economic activities (A) TR ATt @l
(8)  Economic crisis of government B) H@KX & A e 3l
(C) Al difficulties of barter exchange © awy fafvm yomeht & &
: system ' | _ HieTgEl Bl |
(D)  Fall of moral | ‘ | 0)  Afes gaF
T _ e [PT.O]
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2. The Gowvt. of India for unorganised
workers are
(A) Primary school teachers
(B) Employees of sugar factory
(C) Textile mazdoor
©)/  Rickshaw puller
S
23. Poverty in less developed countries is
largely due to

(A) Voluntary idleness

\(B)/ Income inequality

Laqk of cultural activities

(D) Lack of intelligence of the people

24 Under Indira Gandhi National Old Age
Pension Scheme, the benefits are available

to the people having minimum age of :

(A) 50 years.
(B) 55 years
(C)  65years

| JB'}/ 60 years

295. As per lastest data in urban areas women
employment is highest in which of the
following industries areas ? |

(A) Private household

22.

23.

24.

25.

g e T gET IH T B
I B

A 503

B) 55aY
() 65°W

0) 60ad

IS STl & AR qEY A s
I=aq | HAfeaneti & ge e 3 T |
g?

W Pl e

B) il T W FEM

€ AT @

O @ W




26. success of Green Revolution does not  26. efa @it o o o T TE T
uire |
i A  TEE e ghes

(A) Adequate irrigation facilities
@)  Availability of high yielding seeds

UQ/ Pesticides and chemical fertilizers

(D) » Large scale mechanisation O) o HY TAHT
21. Which neighbouring country has objections ~ 27. fre g 9T qr{—cﬁq GRS
on Indian Baglihar Hydro-electric Project ? ERIEES] aRAST I¢ ST iy
(A) Nepal A A
@)  Bhutan | B T
(c)  Bangladesh C) GIRmIEEL

o8 Railway budgetin India was separated from 28, WA ¥ @4 9IC Y qE ot § B

General budget in : e e e
/“d/ S (A)  1924-25
il 1S | - (B) 194142
(C) 1947—48 | . © 194748
(D) 1950-51 O  1950-51

29 Who is the chairman of 13th Finance 29, s O oA & TSI B &f

Commission 7

(A " TEEA
o B) THIH. TR
()  MN. Vohra
(©)  Bimal Jalan | © Frm S
Sy Vigy Kelkar D) R
2406-02-C/205 ' (o8 ) | L[P'T'O']
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30. Land Development Bank was established

(D) 1935
31, When the social control over bank was
exercised?

(A) 1962

(B) 1964

(C) 1965

32. When w;s the 14 Commercial Banks
nationalised ?

\)/ 1969

1971
C) 1972
0) 1975
33! Kisan Credit Cafd was introduced in :
(A 1990-91
(B)  1995-96
1996—97k

~/(0/ 1998-99

34. National Co-operative Development

Corporation established in year :
(A) 1958
(B) 1960
(€, 1961

o 1

2406-02-C/205

30.

ait:

32.

33.

34.

(.10-)

A)  1929H

(B) 1932 H

C) 1933 H

©) 19354

o g g FrEEeT e S g
A) 1962

B) 1964

C) 1965

O) 1967

14 SEEE J6 B TSEDT B
g arv

(A) 1969

B8) 1971

@ 1972

O) 1975

e A/ Hie o fehar @
(A) 1990918

(B)  1995-96 &

(C)  1996-97 ®

O)  1998-99

TS Heifan e Frm wnfie gar,
N
(A) 1958
(B) 1960 H
C  1961%
D) 1963%

BFTgr = Pl
'- i % '-c._'-,"i
ol
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Which commillee's reCommendations are

being followed for estimating poverty line
in India”?

(A) Dutta Committee

(B) Chelliah Committee

35

el Yar | i @A e A # AP
& foe By oftfay @ segEEt &
S F1ET S @1 87

(A)
(8)

gl gl
o gt

(C) Chakravarty Committee

\/(D)/ Lakdawala Committee

35, First Industrial Policy was passed in year .  36.

A 1948

B) 1952
©) 1956
D) 1960

37. Who was the mentor of dairy sector ? 37

(A) Dr. Swaminathan

/(.E;‘/ Dr. Verghese Kurien

(C) Dr. V.K.R.V. Rao
(D) Dr. Raj Krishna

38. Population explosion takes place in which 38,

stage of population growth?
(A) First stage -
_,\-B/ Second stage
(Y- Thi;'d stage
(D)  None of the above

2406-02-C/205 el 1)

(C)  <Ehadl |l
O)  wehsiarEn Al
o SERE Y afa @t =, a:

(A) 1948 H

B)  1952%

C) 1956 H

O)  1960H

gy &5 & N faehE # f6d [9Er
A Sl 27

() 3. EEEEEE

B) . F FRaA

© s q.FH.AL W@

O . T FIM

e fawpe, JMEe gks @l e
mﬁ@m%?

A%
(A) T SR
B) fad sEen
© TN SrE
D TRmiAMEE
[PT.O]

ul g
. - r
S,
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39 Unemployment which OCcurs when workers 39, AT ot 7 B S s
Move from one job to another job is known Al 1 BT AL T b
as | 2 dr 39 @ed g :

(A) Seasonal unemployment (A)  qHR® T

_,.:LB?’E Frictionaf unemployment (B) HegieTeh ST
(C) Cyclical unemployment (C) shid CRERIR
(D) Technological unemployment (D) SENIIED ERUERIEL

40. Cyclical unemployment refers to : 40. TR ASFA Bt &

(A) Seasonal unemployment (A) qrAfen aﬂwrﬁ
(B)  Disguised unemployment B) A SIS
(C) Voluntary unemployment (C) Ofes® ST

5.19/ Unemployment during recessionary (D) R g6 § dafed Hal & AR

phase of a trade cycle SR
41, Pradhan Mantri Gramodaya Yojana aims at: 41 TYEHAT THIeg oAl g 99 W)
\@/ Meeting rural needs like primary & aal & 7
g enea % i e o
(B) Alleviating poverty through micro- ' g S
| B QT BT
enterprises oo
(C) Generating employment in rural © T Y A
o € Tl & # ISR GO HEAT
(D)  Strengthening the Panchayati Raj O) T SeTeht # et T e
System in rural areas | B GG I
42. Which of the following is a revamp of the 42 IfeET & | 9 Tufag gptor faeprg

IRDP programme ? Yk FHA H YR 7

(A)  Jawahar Gram Samridhi Yojana
M Community based pro-poor

~ initiative B I smRg et A g
(C) Swarnajayanti Gram Swarojgar | H .
Yo 62 | € @i I AsTI Aerr
(D)  National Social Assistance
Programme O TSE i wem s
| 2406-02-C/205 (12)
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43. What are the.conditions when balance of

43,
trade of a country may be corrected ?

>@/ When export is greater than import

)ay When import is greater than export

(C)  When import and export are equal

to each other

None of the above

D)

Where was the Bretton Woods Conference
held ?

44,

Short term imbalance of trade is corrected
by which institution ?

45. 45,

A)  IDA.

By 1BRD.

©)

- D

International Bank for reconstruction and

Asian Development Bank

|.M.F.

4 4,

~ development helps member countries :

M providing long-term loans

(B)
C)

(D)  None of the above
2406-02-C/205

By providing medium-term loans

By providing short-term loans

( 13 )

C)  HgE T R

0) S

3 STeuHIers SRS STEGE (e
e B E O e e !

ITe.31.1.
5812,

€ A w9
D) AU Y& DY

ﬁﬁéﬁ%tﬁi‘{ﬁﬁﬂh@ﬁiﬂﬂ%
R 3T ST <9 o e e Ll & 7

(A)
(B)
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47. Among Indian Economists who had done

pioneering work on National Income ?
(A) P.N. Dhar

Jagdish Bhagwan

\}‘/ VKR.V. Rao

Prof. Shenoi

48 Which of the following industries was started
first in India ?

y Cotton

(B) Paper
(C) Tea
(D) Jute

49, In which of the following industries is the

maximum number of women employed in
India?

(A) Textile

50. Bokaro Steel Limited was established with
the assistance of :

- (A)  Germany
L@/ Soviet Union
(C). = UK.
(B LS A.

47.

48.

49.

50.

~ 2406-02-C/205 (14)

A)  qEd.

(B IRy

c  @.p.a U

O) . [

e GE i @ Pe-a1 FENT SIS
¥ Had qea Wred e T A1

A T

B) S

€ =4 A

O

A gl

B I

(C) SR

D) g

I W Ffes e § R
e Aeg B 7

(A) ‘ Glﬁ;ﬁ B

B  HieEd aﬁw

- ?fﬂs%sﬁmq

0 HgF T AR

B o 14 74 ) R

el i.'..' -

Scanned by TéES'Can'her



51.

52.

93,

55,

 2406-02-C/205

QAT

Who was the architect of Second Five Year
Plan ?

Prof. P.C. Mahalanobis

(B) Sriman Narayan

(C) D.R. Gadgil

(D) Dr. VKR.\V. Rao

Development of Small Scale Sector was the

main thrust in which Industrial policy ?

(A) 1948

@) 195
€). 1977
0) 1980

The Cooperative Planning Committee has

classified co-operative farming into how
many various parts?

(A) fee
Four

(C) Five

(D) Two

Why was the annual plan started ?

(A) Famine and famine like situation
(B)  Blood hostality with Pakistan
(C) Conflict with China

(D) Other reasons

Labour was constituted ?

(A)
&X
(©)

15 October, 1999
1997
1998
2000

o1.

2.

03,

54

When was the National Commission on 55

¢ 130

A) 0. qLd. mReEe
B)  AHE TEY
€) 2. MEF
0) =t A.H.ARAL. W@
fhy et Ay § g I & [
H g g A @ e
(A) 1948
(B) 1956
) 1977
O) 1980
TeE AT W T gEEd Sl #®
R R T 3 g e ®2
(A)  dH
B) TR
©). - 9=
o &
i AoFIE IR T
(A) ST TE I ol R
B) UihEH & A J&
C) TN % AN JH
O) 3T &R
TS W TR & e H9 gl
o ?
¥
(A) 15, 1999
(B) 1997 :
© 1998 ;
©) 2000

[P.T.0.]
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56. In India present trend of rapid urbanisation  56.

IS due to
Gl

(B) Influence of cinema and electronic
media

Lack of employment avenue in rural
area

(C) Breakup of joint family system

(D) Abolition of zamindari system

o7, The strategic aim of IRDP is : o7.

(A) To reduce unemploymént

(B) To provide the required input for
Increasing agricultural productivity

L)&/ To provide more opportunity for

employment and credit facility

(D) None of these

58. What is the minimum calorie intake decided  58.

by Planning Commission for rural and urban

(B)  2100-2400
(C) ~ 2400-2200
(D)  2100-2200

59.  Government of India does not provide any  59.

direct financial assistance to which of the
following schemes ?
M Mahatma Gandhi National Rural
Employment Guarantee Scheme
(B) Rural Health Mission

b(ﬁi/ Indira Aawas Yojana

(D)  Jeevan Sathi Yojana

2406-02-C/205 C16)
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(B) R T gegD NS
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e &7
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(B)  2100-2400

(C)  2400-2200

0)  2100-2200
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(A)  Fere T U g A5
TS e

B) IHIY @eH I

€ ERT @™ AT
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g0,  Planning Commission is : 60. Ao STANT B -

(A) a Ministry A) e |

By~ a Government Department (B) Ueh G T

(C) an Advisory Body (©) U GArehy el

(D)  an Autonomous Corporation D) U @aa A

51,  Which is the most important element of 61, - GMRH < & DA "eEyYl 3Hagd g7
Social Justice? |

| (A)  Grffes QieEon
(A)  Collective Bargaining
(B)  Abolition of Servitude B N AT PSS
ey~ Freedom of Association € @9 fErT B e
@) Industrial Conciliation 0) olEE g
67 When was the .L.O. established? 62. SIS e TS Sl WY H
? :
LA 1919 &
(A) 1919
(B) 1921
B) 1921
(C) 1930 © 1830
D) 1940 | O) 1940
63, ALTU.C. was established in : 63. otfgw WG AhS gEd d9 &l
O &R
N 1920
| A) 1920
LR B) 1924 %
(C) 1938 © 19383
@) 1942 | O)  19427%

2406-02-C/205 | _ Cil7 ) o - [PTO]
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o4 Who wrote the book ‘Arthashastra'? 64
(A) Rahul Sankrityayan
(B) Aryabhatta
(C) Mandan Mishra
\D’ | Kautilya
6 Economics is the Science of Wealth' is said  69.
by
(A)  J.S. Mill
(8) J.B. Say
/Lf.})/ Adam Smith
0) TR Malthus
66.  Who wrote the book 'Wealth of Nations'? 66.
(A) Dalton
B Adam Smith
(C) A.C. Pigou
(D) D. Stump
67. 'Indian Agriculture Since Independence’ was  67.
written by :
(A) Dr. Swaminathan
_AB G Bhala
(C) Dr. VK.R.V. Rao
(D) D. R. Gadgil
68. National Forest Policy was passed in which 68,
year? |
(A) 1949
\@/ 1962
(C) 1956
(D) 1966
2406-02-C/205 (18)
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T 1T g AR iy e
fpee forEt?
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69. In India maximum number of workers are 69,
employed in :
(A) Textile industry
(B) Iron and steel industry
(C) Petrochemical industry
(D)  Automobile industry

70.  India's oldest Iron and Steel Companyis :  70.
(A) TISCO, Iron and Steel Plant,

Jamshedpur

74 InFirst Five Year Plan, priority was given to il

(B) 11ISCO, Steel Plant, Burnpur

(C) Durgapur Iron Steel Plant

(D) Rourkela Iron and Steel Plant

which sector?
/)/Agricultural sector
(B)  Industrial sector
(C) i3 Health and Family Welfare sector

(D) Trade and Commerce

70 Which is the most important body 72.
connected with planning inllndia?
(A) . Planning Commission
- (B) Niti Aayog
()  National Development Council
(D) Prime Minister Secretariat
 2406-02-C/205 (19 )
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3 Who was the architect of First Green
Revolution in India?

74 Microeconomics is related to :
&Y Individual units
S Large and big units
(C)  National income
(D)  None of the above

75. Macroeconomics is related to :

(A)  Big or large units
LLB)/ Small or consumer's behaviour
(® One firm

(D)  None of the above
76.  Marshall has explained :
‘ (A)  Macroeconomics analysis
(B)  Consumers behaviour

73,

74.

75.

76.

) @.e. sgHa T

B . T

©  do. aT

o) . B T
Wm@ﬁﬁt

() ST g

| & ol e g 4
© TgEomTd

O ITdE A § HE A
2 Grie e Hefd 87
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78, Zamindari Abolition Act was.passed in year:

_ 78, offard Sege SifRfvEE wiRd ga, a:
(A 1948

3 (A) 19487
(B 1950 B) 1950
(C) 1956 C) 19564
O) 1960 ©)  1960%

79 Which Governor-General introduced 79 Bl TIE]ﬁ'{—W J = aﬁaﬁ Gﬂ‘;[

Permanent Settiement ? fepar ?
(A)  Lord Clive (A)  dS FRd
. (BL—Tord Comwali B) S HivalcE
(C)  Lord Warren Hastings C) df$ and sR<™
(D)  None of the above 0) SR ® § P 6l
80.  When was the cooperative farming started  80.  foER ¥ el N H ARH A TN
inBihar?
(A) 1952
(A) 1952
| (B) 1956
B) 1956
C 1960
C) 1960 ©
D) 1967 Pl Rl

81.  BORO Paddy is grown in what condition of 81, A a9 A A B O uq ﬁ;‘é’[ B

- soil and water ? | Rafy & &t 87
Mder waterlogged_sit_uation (A) a-aq'aq a3 #
(B Under sandy soil condition B g
(C)  Under dbmat-suil condition _ C) T fa@aﬁ
'(D) Under mou_ntainous rggibn | o (D) qg@ CE K]
| 2_7-406—01.2-(2/2'05 Tl | CA ) . [P.T.O.]
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82 .Sugar Development Fund was set up in 82.
year . -~
(B) 1986
(C) 1990
(D) 1991

83. Mahajan Committee report of 1988 led  83.

emphasis that if a new mill has to be opened

its minimum distance from old mill would

be .

(A) 20 km.
(B) 16 km.
(©) 10 km.
(D) 18 km.

84. Today India is the largest supplier of cement  84.

aﬁd holds the position of :

First position

/E-)’ Second position

Third .position

(D) Fourth position

85. Where is the paper factory established in 85

Bihar which runs under collaboration with

Assam?

(A)  Samastipur
(B) Thalwara
(C) Da!mianagar
(D)  Purnea '

- 2406-02-C/205

L

AT faenrd
qy

A) 19827
@)  1986%
© 1990
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86.

¢ pS

India Is in which category of economic 86,
growth? 4
/w/ Developing economy
(B) Backward economy
(C) Underdeveloped economy
(D) Advanced economy
g7.  Planning Commission was setup in year : 87.
(A) 1949
\)Ef 1950
(€) 1951
(D) 1947
88. Great depression occurred in 88.
(M 1939 -
y 1930
(C) 1947
@) - 1935
89.  What is mixed economy ? 89.
(A) Private sector
(B)  Socialist sector
M—existance of both private and
. public sector |
(D) Capitalist sector
) Second Industrial Policy was passed in  90.
which year?
(A) 1947
(B) 1948
@ 196
(D) 1970
2406-02-C/205 ( 23)

anféfer faepr @t Aof # 9T fhe w6
X &7

(A)  fommasiiar orawn

B fedt sdeaen

B) 1950 H

C) 19514
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fvgamdt w4 &9 g ot ?
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A el &
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C) ot td gdsie & qmi
| He-ARd™
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(A) 1947
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91. Who wrote the book "Labour Problems in 91, BIEG]
Indian Industries?" fhaa ferdl?
- /lA')‘/Dr Ravindra Verma (A) 2f, W= Eill
(B)  Dr.RK. Das @ 2 AEH. T
(C)  Dr. P.V. Gajendra Gadkar c & A, T TEhT
©) DrVV.Giri o) . dd. AR
92.  International Labour Organisation's 92,  dFcRisid &9 @TeT R MR
Headquarter is located in : ferg 2
(A) Geneva (A') Har |
(B)  Hague B) BTH
ey~ London € & d
(O)  Vienna o fa #
93. In India the public sector is most 93 ‘Iﬂ'{?r % gt & dgd Bl 01 CEIS)
dominant in : g
() Transpor A FaEd
(B)  Steel production B) &I IRA H
(C)  Commercial banking C) AEgds d% A

/JD}/ Air India D) R EEEH

94.  Steel Authority of India was established in 94,  9RT FET TREHIOT & ®©MUAT &)

year : | T, 9y :
/w/ 1956 (A) 1956 %
B) 1964 | B) 1964 %
€ 1910 . | ©  1970%
@) 1974 5 ©)  1974%
© 2406-02-C/205 . )

. )

oL < LR S EIRC

b MG e - B
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ad Highest milkk producer state in India is a5 qaa st g Jadrgsh U | Gl 3

¢ A" Uttar Pradesh (A T R
B)  Gujarat B) T
(C) Punjab (C) qATE
(D) Haryana (D) gﬁqwn
06. Per capita foodgrains consumption 96. ufer aafekr @ &l JINNT
(A) has fallen steadily over the years (A) a9 | - e @ 2
(B) has fluctuated (B) " Id-ded ey %
(C)  has remained stagnant © RRw@?
(D) has risen very slowly (D) sgd -4 a1 2
97.  Headquarters of OPEC is in : 97,  UgiemH IEd T s a2
(A) _ Vienna A mﬁq '
(B)  Kuwait City b - i
B % R& A
(C)  Algeria - © s ¥
(D) Tehran D) B0
98-  Which staté of India is the largest exporter 98 AR FH PHA-91 TG dEd B qa%‘
of rice ? ge1 Ml &7
(A)  West Bengal (A  qi¥EM &
(B)  Uttar Pradesh B)  IEX A
(C)  Punjab C) U

(/@1/ Andhra, Pradesh 0)  STH SR

99.  The most important small scale industry in 99, ¥Ra § 9 Heaql @y I @

India is of : il i e
(A)  Textile | . (B) %
B) Jute _
(C)  Jewellery © W
(D) Handloom it O s
. 2406-02-C/205 | s e B8

. i - oy gt R a - .lt. T T
o s Ly
i P - A N e, e I ol ay
. = ] T T e i L
. o' E T .".(4 .{' .'.. g R PR
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W0 Under Boro paddy cultivation what kind /
»oved are produced ?

(A)  Mansun

B) Sita

(& Tulsi Manjari

(D) Gautam and Prabhat

101 Disguised unemployment is found under
which areas?

Ua)/ Under rural areas

(B) Under urban area
(C) Capitalist system
(D) None of the above

102.  How much foodgrains were made available
by Central Govemment under Food for Work
Programme?

(A) 27 lac tonnes
(B) 26lac tonnes
€  28lac tonnes
(D) 30 lac tonnes

103.  In 1950-51 Primary Agriculture Credit Society

advanced a sum of Rs. :
(A) 1948 - 20 crores
(B) 1949 - 22 crores
(C)  1950-51-23 crores |
O 192 - 26 crores

2406-02-C/205

100.

101.

102.

103,

&rﬂmﬂﬁ@‘“ﬁmmﬁw
gt 87
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© g wa

O) | @ S

o Ay el At A R SR &2
A)  IEor & H

|) &0 A H

©  oftard sen

O SwEd ¥ & By Tl

Food for Work (8 WIX %) qor A
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(A) 27T e

B) 267E T
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| gere Freart Fﬁ?[
108.  Salem Iron and Steel work is situated in 108,  HQIH e qa

which state?

(A) Madhya Pradesh
(B) Andhra Pradesh

(C) Chhattisgarh

108.  National Textile Corporation consists of mills
of which status?

(A) Private mills
(B) Co-operative mills
(C)  Sick mills

“(9)/ Public sector mills

110.  Jute industry started in India in year -

,1«7/1885

(B) 189
i (O 9807
O 1898

111. Jute 'indusftry' is beneficial for different
- comers of the emnomy in pmwdlng

(A) | Fj.g;ns.exﬁ!;ange 4

109.

10.

1 -

i fera 27

W T

B o

© BT

O @S

st e e 1 ot R s
Pl &7

) Pl & @

B) TEHR A A el
© ¥ B
O e A R

-wﬂqga@w#mwgé ﬁ

(A) 18859 B
-.'(B)- ,139637 '

:(0)  1897 %

D) '{agair |

Scanned by TapScanner



y12.  Economic planning is a subject :- 112, onfie FrdeE uh fawa ¥

(A)  Inthe union list el A)  FEE gE A
(B) In the state |ist (B) T @ b |
\@/ In the concurrent list (C) gHa Q:‘c?f |
() Unspecified in any special list o) ffids e {H‘ﬂ far g |
113, For internal financing of Five Year Plans, 115. ‘F-l‘qﬁ'q AT & ST e &
government depends on | R TR P B B
/A/Ta:gcation only GOV A+ St zﬂ[i’rtm qX
()  Taxation and public borrﬁwing | B  HT W grgsii-eh T T
(0 Public borrowing and deficit ) EdefE w0 wd A @ R
| financing _ | A W
(D)  Taxation, public borrowing and | 0) AT, HEsID FT ud |
- deficit financing | g o SEEn W |
114.  Planning in India derives its objecfive‘é_ N4, qd # FRESE SO G?@ﬂfﬂ ﬁ AT
from : B : &l & PO L R gl
(A)  Fundamental rights SR TR e a‘-lﬁﬁ’»l‘( 9
/(B)/ Directive pnnciples_ of state policy B TP ;ﬂﬁf e dd |
©  Fundamental duties © A FueA |
(D)  Preamble Pl (D)_'_Wﬁa/mﬁ% |
S The Five Y;ear P’Ién“_s infend to dévelqp the 115. Ugadl ﬂlﬁﬂﬁ ‘HRH ﬁ \ﬂiﬁlﬁa; &g ?f
counw mdusmallythmugh e TR ferpfr Eb'{*" e @ | '
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116. - PP.C.L. plant is situated i - | 116. URY
o A TR
\_,'LB{ Amjhore (B) STHEAI
(€) Dehri on Sone (C) e ol I
(D)  Sasaram O) | G
117.  Where is Bihar Sponge Iron Alloy Steel 117. EEES ] S t[?rﬂﬂ I e
Limited situated? Eb‘éf feerd B?
(A)  Patraty A TG
(B)  Jharia ()  HRA
(C)  Hazaribagh R ey e
(D) Ranﬁgarh (@)% R

% for 37
118.  Where is the Mayurakshi River Valley 118, Wil =& HTe) GRESHT el &

Project located? A T
(A)  -Deogarh
Hazaribagh % i A
va)/ Massanjore © AR
D)  None of the above | O SR A 4 B Tl
119.  Under whose chairmanship Rajya Udyog 119, fa@ 1™ e START & T [Tl
~ Aayog was constituted ? SR | fed fehar ™Y
(A)  Dr.J.G. Irani ' A) . S5
(B)  Chief Secretary Bihar B) T afea fer
(C)  Development Commissioner (¢ faE HIGeFrT
(D)  Cyrus Mistry O) 9 B
120. When was the permanent settlement 120, W} S<\e&) F9 yw §§?
started? | ) 1770
(A) 1770
/(B)/ﬁ73 | (B) 1773
(C) 1780 © R
o) 1786 B R
2406-02-C/205 ' (30)
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In 1904, Chekhov died in Badenweiler, 6.
Germany. In which cemetery can you find

his tomb ?
,M Novodevichy Cemetery, Moscow
(B) Pere-Lachaise Cemetery, Paris
(C) Highgate Cemetery, London
(D) Alexander Nevsky Cemetery, Saint
Petersburg Ii
2. What prayer did Della say to herself when
she heard Jim come inside ? |
(A) Please, God, make him enjoy his
gift
(B) Please, God, make him accept my
apology
(C) Please, God, make him still love 8
me |
(BY"  Please, God, make him think | am
still pretty 1
3! Who does not carry umbrella due to loosing
it ?
-* (A) Robert Lynd d.
H.C. Hills

,Q@)/ Stephen Leacock

(D) None of these

4 What is the name of the translator, a
contemporary of Chekhov, who first
translated Chekhov's work into English ?

(A) Constance Diamond
(B) Constance Emerald
(C) Constance Pearl

Constance Garnett
Mulk Raj Anand was deeply influenced by :

/éﬁr Gandhi

Jawaharlal Nehru

(C) Bal Gangadhar Tilak '
(D) V.D. Savarkar
2407-02-C/575 3 £l

107

After receiving the doll's house what do the
girls plan to do at school ?

(A)
(B)  Keep the doll's house secret
./TC( Bring the doll's house to school

(D)

Which animal hides during the Battle of the
Cowshed ?

(A)
(B)
A&y
D)
J.H. Newman was born on-:
(A) 21st February, 1801
87 21st February, 1811
(C) 11th February, 1821
(D) 11th January, 1801

What in the story "The Doll's House"
symbolizes kindness and genuineness 7

Bring the Kelvey's home at recess

Boast about the doll's house

Boxer
Clover
Mol_lie

Jessie

’(ﬁr/ The smell of paint

(B)
)

)

Who said "All these heroes as the other men
and women, who had emerged in my novels
and short stories We;e dear to me because
they were the reflections of real people |
had known during my childhood and youth? |

The lamp

The Kelvey's children's clothes

The doll's house

(A) Raja Rao
R.K. Narayan
/6)/ Mulk Raj Anand
Khushwant Singh

[PT.O)

Ji

" I '.'I'l
P
X "'ﬂ
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X What is required for survival in any great

v, modem city according to Lynd 7
(A) Absent mindedness
/97/ Efficient memory
(C)  Forgetting
©)  None of these

12 "The more we can regularise our
commonplace aclivities by habit, the
smoother our path and the more leisure we
command” is explained by Gardiner through
a case
(A) to hold the lapels of his coat while

speaking

(B) to hang the coat and hat on a certain
peg or if occupied, on the vacant
peg nearest to it

to fumble with fingers at a particular
button in the lower part of his
waistcoat

(D) none of these

13. According to Bacon, the chief use of study
IS :

(A) Ability
Ornament

,4e)’ Dehght

(D)  Adornment

4. Forgetting is predominantly found in
(A)  Childhood
(B)  Adulthood
(C)  Young age

15

16,

17.

18.

19,

Who is the farmer whom the animals
overthrow 7

(A)  Mr. Whymper

(B) Mr. Pilkington
Mr. Frederickson
/Bl/ Mr. Jones
The best quality of a true gentleman i8 :
((&J-/ Decision-making and open-minded
towards religion
(B) Hides his weakneses and becomes
impatient
(C) Is a religious person and believes
In gossips

(D) None of these

What object in the doll's house is Kezia's
favourite ?

(A) The real windows
(B) The porch with globs of paint
(C) The family of dolls

B The little lamp

When was "The Gift of the Magi” first
published ?

(A) 1865
LB 1905

€ 1953

(D) 1765

Who among these have good memories ?

Poets '
B)  Doctors
| (C) Teachers s *s;'
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20. A man who studies a lot is temperamentally : ~ 25.  Della wants a proper watch chain for Jim
(A) ~ smart because his beautiful watch only has a0

A8 lazy old i
(C) active /(ﬁj"/ leather strap

D) proactive

£ T (B) worn ribbon
Al In an attempt to minimize her hair cut, Della

uses a curling iron: O' Henry uses a simile (C)  faded band

to describe the finished product, "Within forty (D)  broken buckle
minutes her head was covered with tiny,

close-lying curls that made her look 26. Studies develop man's natural :
wonderfully like a | A) Ability
(A) child's doll B by

(B) scared porcupine

46y~ truant schoolboy /wf Value

(D) comical puppet (D) None of the above

22. In which year Mulk Raj Anand was awarded 27

What are rituals like marching, parades, and
'International Peace Prize' ?

songs meant to do in the Animal Farm ?

A 2 (A) Erase individuality, foster loyalty,
®) 1o provide group identity
€). 1950 | | .

/[,D)" 1953 (B) Provide a subsitute for organized

sports
23. When Mansfield writes that the doll's house

door is "like a little slab of toffee", it is an (C)  Entertain delight and encourage
example of what literary device ? creativity
(A)  Foreshadowing D)  Keep the animals from being overly
(B) Metonymy ’ bored in their free time
(C) Metaphor

28. What does Kezia do that makes Aunt Beryl
- angry ?

(A) She comes home late from school

(D) Simile
24. Which animal discovers the truth about
Boxer's destination when the pigs load him

into a cart claiming that he is being takento (B) She gives the Kelveys some food
~ a doctor ? | from the house
) Mollie | /(C)/ She shows the doll's house to the
(B) Muriel Kelveys
o oy . (D)  She talks back to her
_,,(D)/ Benjamin |
2407-02-C/575 oo ) [P.T.0]
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29, According to Bacon, who condemns
studies ?

(A) Simple men

0)  Ready men

Crafty men
Wise men

30. .The characteristics of a gentleman
according to J.H. Newman is :
(/A)/ One who never inflicts pain
One who comes from high social
standing
(C)  One who has refined manners
(D) None of these
3l In the essay 'On Habits', the essayist
explores the theme of -
(A) Fear

o

(C) Manners
(D) Discipline

Routine

32. Who often forgets his/her walking sticks,
pens and umbrellas ?

(A) Jim Corbett
Robert Lynd

(C)  Stephen Leacock

(D) None of these

33.  "There was nothing to do but flop down on
| the shabby little couch and howl." Which

word. in this quoted sentence indicates the
couple's poverty ?

(A)  Nothing
/(9( Flop
<) Shabby
. ,(Dj Howl

07-02-C/575

34,

35

/@d’

37.

38.

Anton Pavlovich Chekhm‘r was born g
January, 1860. In which city was he bo, )

(A)

(B) Kiev, Ukraine

/(Q)/ Taganrog, Russia
(0)  Warsaw, Poland

Mulk Raj Anand wrote ........ collections of
short stories.

(A) Five
/gay/ Seven
(C) Ten
(D)  Eight

Who wrote "The Doll's House" ?

Paris, France

Katherine Mansfield
Aunt Beryl

Virginia Woolf

(D) Kezia Burnell

To whom does Napoleon sell the farm's pile
of timber ?

(A) Mr. Pilkington

BT M. Frederick

(C)  Mr. Jones
(D) Snowball
Mr. Balfour's habit is to

(A) Write with a pencil

(B) Hang his coat and hat on a particular
peg | |

(C) Fumble with his fingers at a particular
button in his waistcoat

O)  Hold the lapels of his coat whﬁe
~ speaking
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39. One who makes too much use of his
readings for conversational purposes
makes

(A) things haphazard

By vain display of his learnings

(C) proper use of book
(D) All of the above
40, The essay "Forgetting" has been written
by
(A) H.C. Hill
/@/ Robert Lynd
(C) A.G. Gardiner

(D) = Stephen Leacock

41. "Della finished her cry and looked out
dully at a gray cat walking a gray fence in a
grey backyard." The repetition of the word
"gray" reinforces the ___ mood.

------

(A) colourful
(B) holiday
,(e)/ dreary
(D) boring
42. From the following list identify the two novels
published by John Henry Newman :
(A) The Grammar of Assent
(B) Apologia Pro Vita Sua
ey~ Loss and Gain
(D) Callista
43. What does Benjamin, the donkey, think
about the rebellion 2
(A) He is moved to tears that it finally
happened
MD says life will be hard no matter
| who's in charge
(C)  Helaughs atit
(D)  He wants to be in charge
2407-02-C/575 | (

44.

45.

46.

47.

7

£
How does Else most likely feel when Sk

d
says,"| seen the little lamp" at the ey en
of "The Doll's House" 7
(A)  Frightened by Aunt Beryl's treatment
of her |

(B)  Pleased by the lamp and by Kezia's
kindness

€) Jealous of the Burnells for owing @
doll's house

(D) Sad that her chance to see the doll's

house was interrupted

Mulk Raj Anand was awarded Padma
Bhushan in year :

(A) 1986
By 1968
C) 194
0) 1962

When Jim comes home from work, the,
description of his clothing also accentuates
the young couple's poverty, "He needed a
new overcoat and he was without 5

/@eq/ scarf
(B)
C)
D)

How many books did Newman write during
the catholic period of his life ?

boots
gloves

all of these

(A) 33 books
(B) 22 books
(C) 11 books
(D) more than 100 books

[P.T.0.]
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48.  Whatmain criticism does "The Doll's House" ~ 53.  In what yeah did Chekhov win the Pushkin

offer about the class system that prevailed Prize ?
in the place and time of its setting ? (A) 1888
(A) The class system created a sense (B) 1885
of responsibility-in the upper class (C) 1889
The class system brought physical (D) 1901 e
hardship to the lower class 54 The pen name of A.G. Gardiner is .
Currer Bell

(C) The class system could be cruel to

oSt /(B‘)/ Alpha of the Plough
(C) Richard Bachman

(D)  Abigail Van Buren
55.  Whatdoes Della do after counting her money

(D) The class system was 'governed
mainly by women

49. Who reduces the ideals of Animalism to the '
1 a2 e I : h Ma [ g
phrase "Four legs good. two legs bad"? in the beginning of "The Gift of the Mag
(A) She calls for a cab
Snowball
B) NE (B) She weeps
- gl (C) She calls her mother
(C) Squealer ~ (D) She cheers
D) Boxer 56. "Man is nothing but a bundle of errors” has
50.  Gardiner finds himself at loss without his been taken from which essay ?
"“l{ Stick (A)  Our own civilization

(B) Good Manners
(C) Forgetting

‘)‘0)‘ Pencil
By~ None of these

D ;
D) . Umbrella 57. What does Napoleon rename Animal Farm
1. According to Newman, a gentleman never in his toast at the end of the novel ?

shows : (A) Napoleon Farm

(A). Indifference to others (B) Pig Farm

(B) Sympathy to others (C) Freedonia

(C)  Compassionate to others -~ (D) The Manor Farm

(D)  None of these 58. Why are the Kelvey girls treated so poorly?
(A) The other girls are jealous of their

V4 In his short story "The Parrot in the Cage",

Mulk Raj Anand has tried to explore the unusual carefree lives

e (B)  They do not conform to the beauty
A Confiict standards of the day
(B) | it (€)  Their family is poor and considered
_ ; to be very low class
overty | /GB'I/ They are boastful children who often
,([;])/ Casteism misbehaves -
'-~__2407-02-C/575 8
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59. How does Napoleon express his contempt
for Snowball's windmill plans ?

(A) By spitting on them
,CE')/ By giving @ scathing speech

(C) By urinating on them
(D) By writing Snowball a letter
60. Newman's essay "A Definition of a
Gentleman" is an excerpt from :
(A) Discourse |V
(B) Discourse VI
(C) Discourse VII|
(D) Discourse |l

61. What in the story "The Doll's House", might
symbolize poverty ?

/(A']/ The Kelvey's clothing

The doll's house
(C)
(D)

62. How did Jim pay for his Christmas gift to
Della ?

(A)
(B) He obtained a loan from a bank

,(Ba/—ie sold his watch
_(D)—"He sold his car

63.  The first novel by Mulk Raj Anand was :

Paint smell
The lamp

He loaned the money from his father

(A) Coolie

/(BJ’ ‘Untouchable
(C) Two Leaves and a Bud
(D) The Parrot in the Cage

64. How does Napoleon ultimately triumph over
Snowball's intelligence ?

(A) Better speeches

(B) More allies

(C) Brute force

(D)  With human help
2407-02-C/575 (

9

65.

06.

67.

68.

69.

)

A famous quote by Chekhov "Medicine 1S
my lawful wife, and ___is my mistress. When
| get tired with one, | spend the night with
the other." What is the missing word ?

‘_/(A}/ literature
(B) drinking
(C) eating
(D) smoking

In the context of the story "The Doll's
House", what are buttercups ?

(A) Flowers
(B) A type of candy
(C) Cups for holding butter
(D) None of these
J.H. Newman died on :
(A) 21st February, 1884
/(5«}/ 11th August, 1890
(C) 11th August, 1877
(D) 21st August, 1892

How rﬁany letters is Boxer able to learn ?

(C) Six - the number of different letters
in Napoleon's name

All twenty six, plus certain letters in
the Russian Cyrillic alphabet

Della looks into the "pier glass between the
windows of the room ...... [her] beautiful hair
fell about her, rippling and shining like a
cascade of brown waters." The quotation
contains an example of :

((A-)/" Simile

(B) Personification
(C) Alliteration
(D) Onomatopoeia

[P.T.0.]
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70. What genre is of *The Doll's House" ? 75.

(A} Stage Play

(B) S0ap Opera
€) Novel

_ABY"  Short Story

Whatis the technique of anti-climatic endings
that Chekhov is known for developing ?

1.

(A) Denouement 76.

(B) Zero endings
(C) Surprise endings
(D) Pathetic ends
72, What is Sugar Candy Mountain ?

(A) The name of the lullaby that

Napoleon forces the pigeons to 77

Sing to his thirty-one piglets

(B) The idea of animal heaven
Propagated by Moses the Raven

(C) The setting for the story that Mollie
tells to the lambs

(D) The mountain visible on Animal
Farm's horizon |

73. Upon moral reflection, what did Della (Mrs.
James Dillingham Young) decide that life
was made up of ?

(A) Sobs, sniffles and smiles

_(BY"  Birth, death and rebirth 2
(C) Faith, hope and love

(D) Joy, pain and fulfillment

74, Deveid of good memory leads to -
) Acentric behaviour

(B) Joyfulness

(C) Intelligence

)  None of these

2407-02-C/575 (10)
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What is the name of the Quasi.|x,,1;:,r}‘:i:it
socialist philosophy advocated by

Napoleon and Snowball ?‘
(A) Porcinism

(B) Animalism

(C) Communalism

(D)  Fourleggism

According to Bacon, experience is essentig|
to add value to :

(A) study
(B) book
(C) ability

(D)  none of the above

What family background did the Kelveys
have ?

@/ They had a widowed mother working
In prison

(B) They had an imprisoned mother and
a jobless father

(C) They had a jobless mother and an
imprisoned father

(D) They had a mother doing labour
work and a father claiming to be
imprisoned

What are Boxer's maxims ?

(A) “Snowball is always right" and "For
the glory of Animal Farm"

(B) "l will work harder" and "For the
. Qlory of Animal Farm"

(C ‘| will work harder" and "Napoleon
' is always right"

©)  "Snowballis always right" and " will
work harder"
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) Mulk Raj Anand was borm in A4
(A) 1905, Poshawar

What is Boxer's ultimate fate ?
(A" He dies of old age

(3) 1925, Bulandshahy - (B) 'he windmill falls on him
: (C) 1915, Pashawar (C) Napoleon sells him to a glue factory
(D) 1950 Bulandshah (L) Mr. Whymper shoots him
80 What do Moses and his tales of paradise 85 In "The Doll's House" which of the following

most likely drives Kezia's attempt to let the

represent In the Animal Farm 7 ,
Kelvey qirls see the doll's house ?

Religion .
(A) oIigh (A)  Her rebellious nature

(B) Tyranny (B) Her desire to be kind

(C) Enlightenment (C) Her need to show-off
(D) Rationalism (D) Her wish to act superior
81 O' Henry's biblical allusion to the Magi 86, Whom does Old Major represent 7
elevates a poor couple's dilemma about __(A}— Marx and Lenin
buying Christmas gifts for each other to the (B) Hitler
level of the New Testament story of the Wise (C) Martin Luther King
Men. This short story is about two young (D) lvan the Terrible

lovers who sacrifice their most priced 87

| =l Which Russian leader does Napoleon most
possessions; it I1s a classical example

resemble 7
of . _AAy— Stalin
(A)  Irony (B)  Trotsky
i (B) understatement (C) Tsar Nicholas
(C)  flashback (D) Khrushchev ‘
(D) juxtapositioning 8d, - Q) Henn.; alsr.:.} includes a bliblical reference
82.  Bacon says, to spend too much time in AR ,J'_m's watch.‘J|m's gold watch
ko IS S0 exquisite even King ___ would
Bl R ~ "pluck at his beard in envy."
(A) Studious | (A) Eiskad
B/ Sloth B)  David
(C)  Affecton S MG Solemon
(D)  Affectation (D) Saul .
83.  Which anéwers‘ best define 'Shun' ? 89.  Who mostly influenced the children to treat

the Kelveys hatefully ?

A)  Welcome with open arms ‘
I ; /(#)/ their parents and families

(B) Be envious of

| (B)  their friends
/(e)/ Avoid, ignore or fB!ECt | (C) their OV_G'H mean Ispirits |
©) T93$3 | - (D) their education from school
| 2407-02-C/575 ATV LR
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o a stick that we usq
on." These lines arg

Q) Chekhov trained in and carried on another 9. not a crutch
profession alongside his literary work What from the pssay
was his onginal profession ? A On Fear
(A) Lawye! ®) on Keyhoie Moral$
(B) Loctor On Habits !
g a
(C) School teacher il ) On the Rule of the Ro ;
ball
(D)  Architect o6,  What bes! describes SNOW
¥ an's 3, Tracts | treacherous, lethal
J1 John Henry Newman's books, Tracts for (A) Cunning,
Times, started what major movement in the ) passionate, intelligent, a gifted
Anglican Church 7 speeCh _maker
(A) The Calvinist Movement C) Pompous, destructive, ingratiating
B)  The Oxford Movement D)  Back-stabbing, deal-making,
/(Q/ The Tractarian Movement insecure o "
it - the Burnell chilaren, y
D) The Anglican Movement 97, What do
92 l(-iow much mor?ey has Della saved up in Isabel gain from having the dol -S house ?
‘ | itude towards life
the opening of "The Gift of the Magi" ? (A)  Anew att
A  $1.96 (B) Even more status than before
® g 5'2 A (C) Additional improved playtime
) g (D) A better understanding of beauty
/(Q/ BV 98. Who is known as the Father of the Indian
L) $4.23 | English Novel ?
93.  Why do poets forget ? (A) R.K. Narayan
(A) Due to imagination Raja Rao
(B) Due to always writing /(( Mulk Raj Anand

Khushwant Singh

99. What IS common amongst John Keble,
Henry Newman and Stanley ?

(C) Laughing
(D) None of these

94.  How old was John Henry Newman when he

made his Evangelical conversion ? (A They were all poets

(B) They were all associated with Pre-

(A= 22 .
5 | Raphaelite school
2 - () They were all atheists
JLO)/ . (O)  They were all associated with
(D)ig. 45 : | | ~ Oxford Movement
2407-02-C/575 LGy o s
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100.  Whattitle does Napoleon eventually assume 106,  Who teaches the sheep to chant "Four legs
good, two legs better" 7

(A) King of the Anim
e o (A)  Napoleon

(B)  Lord of Manor Farm

() President of the Republic ®) i
()] God of Beasts (C) Clover

101. Bacon's essay entitled "Of Stydies” is a AP~ Squealer
passage to be : 107.  How is the letter-box described at Della and
(A) chewed and digested Jim's apartment building ?
(&) réad with main points (A) Unable to open due to broken door
(©)  studied thoroughly (B)  Rusted completely shut

(D) none of these

102.  "Life is made up of sobs, sniffles and smiles
..... " Is an example of . |
(A) Simile 108. Whose essays are characterized by

humour, wit and a polished style ?

(C) Permanently locked
(D) Too small to hold a letter

(B) Personification

(C) Alliteration (A)  Robert Lynd
(D) Onomatopoeia (B)  Jim Corbett
103. What did Della sell Madame Sofronie for (C)  Stephen Leacock
sl | (D) None of these
A) Pegl olardl : 109. Among the sisters in "The Ijoll's House",
B & family heifioom who was always giving orders ?
(C) | Her wedding ring ) . Kezia
4 wh :n ant:qJelkaOI"(A d got Sahitya @ Lot
4. or which novel Mulk Raj Anand got Sani |
8 iéademi Award ? | ,g' Gy Isabel
s (A) Untouchable (D)  Allof them |
/(9)/ Morning Face - 110.  What s the reason for the windmill's initial
(C) quhe SRR Y collapse ? . R
, (D) 2 Nane of these 0 (A) Snowball sabotages it - .
105 Wh@ ﬂﬂﬂ'ﬂtﬁs ‘The Doll's House"? | (B Thefarmersblowit up with dynamlte '~

© Itfallsina storm

Scanned by TapScanner



Scanned by TapScanner



Printed Pages 4

7401-02 et

| Degree (Part-II) Examination, 2021

( Vocational — Composition)
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3 frfaifad 991 & 9 Bl f 3 Su¢ g
(2x15=30]

(%) oMy gT ¥ e s @ w@eg @ I
IR WX s iy i ey A

(@) Ror o s @ oRei B gl A
JaET BT W Hifq

(M)  HERT o Tl F ofay @ #d 5L qE
fer & Wit fRyand aarzd)

(9) o e B fhaw w@R & 7 SEEn g W
PITT|

(3) frfoRed & & foedf dm & afeafya i
UL (i) HEgA
(i) BTG (iv) g AN
\/M/ Neid T (vi) G

4./ fefofed amdt & @ Bl o9 &1 BR § omEm
P [2x5=10]

(55) Man suffers so much simply for want of

devotion to God.

7401-02/2120 s [P.T.0.]
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U) Do not be afraid because all power is within you. |

Knowledge purifies the mind and heart.

|
_—

(
(
(q) The young bamboo can be easily bent.
(

3) The cat catches her kitten with her teeth and they

are not hurt.

('ﬂ) A boat may stay in water but water should not

stay in the boat.
(6) Look upon every man and woman as God.

(GT) Poetry is the spontaneous overflow of powerful

feelings.
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